Name: My Math Homework - 2
Monday Tuesday Wednesday Thursday
Find the product. Find the product. Find the product. Find the product.
18 x 342= 88 X 664= 43 x 823= 98 x 920=
Find the quotient. Find the quotient. Find the quotient. Find the quotient.
13)325 14 Y1162 9) 549 15) 1005
Find the sum. Find the sum. Find the sum. Find the sum.
4,22 92.9 199.13 + 75.2= 55.14 + 7.82=
+ 8.13 + 9.2
Find the difference. Find the difference. Find the difference. Find the difference.
98.19 64.09 — 8.8= 29.9 — 18.82= 75.11 —4.4=
— 14.03
Simplify each fraction. Simplify each fraction. Simplify each fraction. Simplify each fraction.
8 7 6 3
10 21 10 20
2 3 3
8 12 21 24
Find the Product. Find the Product. Find the Product. Find the Product.
7X7= 9x 7= 8x7= 12x7=
7 X 9= 9x 9= 8 x 9= 12 x 9=
7 X 3= 9x 3= 8x 3= 12 x 3=
7 X 6= 9 x 6= 8 x 6= 12 x 6=
7x12= 9x12= 8x12= 12 x 12=
7x11= 9x11= 8x11= 12 x11=
List 5 multiples of. List 5 multiples of. List 5 multiples of. List 5 multiples of.
2: 3: 8: 15:
4. 5: 9: 22:
6: 7. 10: 30:
List the factors of. List the factors of. List the factors of. List the factors of.
36: 9: 41: 12:
7. 33: 50: 30:

Solve.

82 + 3(36 + 6) — 2

Add parenthesis to the
expression below.

71—-3X4+6

Solve.

300 — 7[4(3 +5)] + 3°

Write two expressions
where the solution is 28.

What multiplication and
division problem does this
model represent?

T | |3 X

3 3%

e 3%
3 3%

T e[| X 3
T R[] 3% 3

3 3%
X 3¢
X 3¢

What multiplication and
division problem does this
model represent?

@@@@

Draw a model to represent
the following problem.

Draw a model to represent
the following problem.
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My Work

Monday Tuesday
Wednesday Thursday
My Progress
MONDAY TUESDAY WEDNESDAY THURSDAY
# of questions # of questions # of questions # of questions
# correct # correct # correct # correct

| need more help
with...

| need more help
with...

| need more help
with...

| need more help
with...
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I\/Ionday

Tuesday

Wednesday

Thursday

Find the product.

18 x 342= 6,156

Find the product.

88 x 664= 58,432

Find the product.

43 x 823= 35,389

Find the product.

98 x 920= 90,160

Find the quotient.

Find the quotient.

Find the quotient.

Find the quotient.

25 83 61 67
13) 325 14) 1162 9 ) 549 15) 1005
Find the sum. Find the sum. Find the sum. Find the sum.
4,22 92.9 199.13 + 75.2= 55.14 + 7.82=
+ 8.13 + 9.2
—12_35 —102_1 274.33 62.96
Find the difference. Find the difference. Find the difference. Find the difference.
98.19
_14.03 64.09 — 8.8= 29.9 — 18.82= 75.11 — 4.4=
84 16 55.29 11.08 70.71
Simplify each fraction. Simplify each fraction. Simplify each fraction. Simplify each fraction.
LI 71 s 3 5 1
10 5 21 3 10 5 20 4
2 B 3 B 2 B 3 B
8 4 12 4 21 7 24 8
Find the Product. Find the Product. Find the Product. Find the Product.
7XxX7=49 9x7=63 8x7=56 12 x 7= 84
7 X9=63 9x9=81 8x9=72 12 x 9= 108
7x3=21 9 x 3=27 8x3=24 12 x 3= 36
7X6=42 9x6=54 8 x 6=48 12 x6=72
7x12=84 9x12=108 8x12=96 12 x 12= 144
7x11=77 9x11=99 8x11=88 12 x 11= 132
List 5 multiples of. List 5 multiples of. List 5 multiples of. List 5 multiples of.
2: 2,4,6,8,10 3: 3,6,9,12, 15 8: 8, 16, 24, 32, 40 15: 15, 30, 45, 60, 75
4: 4,8,12,16, 20 5: 5,10, 15, 20, 25 9: 9, 18, 27, 36, 45 22: 22, 44, 66, 88, 110
6: 6,12, 18, 24, 30 7: 7,14, 21, 28, 35 10: 10, 20, 30, 40, 50 30: 30, 60, 90, 120, 150
List the factors of. List the factors of. List the factors of. List the factors of.
36:1,2,3,4,6,9,12,18,36 | 9: 1, 3,9 41: 1,41 12:1,2,3,4,6,12
7:1,7 33:1, 3,11, 33 50: 1, 2, 5, 10, 25, 50 30: 1, 2, 3,5, 6, 10, 15, 30
Solve. Add parenthesis to the Solve. Write two expressions
X expression below. 3 where the solution is 28.
82 + 3(36 ~ 6) - 2 300 — 7[4(3 +5)] + 3
80 7—(3X4)+6 103

What multiplication and
division problem does this
model represent?

6 x4 24 +6
T 3E| |3 RE| (X 3¢
3| 3% RE| (3 3¢
T RE| (3 HE| (e 3¢
R XE| [P RE| 3E e

What multiplication and
division problem does this
model represent?

S

Draw a model to represent
the following problem.

12x 6

Draw a model to represent
the following problem.

42 =7
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